Agenda for Math 005.003 (29 April 2020, 11-11:50 am *S2. One yard is three feet. ¥You build a box that has'a volume of 100 cubic feet. Tt takes two

! people ten minutes to spray paint this box. How many minutes does it take three people to spray
1. Q&A (Exam review, worksheet 5, etc.) paint a box that has a volume of 500 cubic feet? ‘Assume that the area of surface to be covered is
proportionate to both the number of people working and the time spent spray painting.
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A2. Let L; be the line passing through (1,2) and (3,5). Let L, be the line passing through (1,5) ~ (A""‘ hew 3,,_;,&“(\ =
’7 and perpendicular to L,. Where do L, and L, intersect? a l
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